BEFORE YOU GET STARTED, A FEW POINTERS PACKAGE CONTENTS USAGE INSTRUCTIONS
1x Chair Backrest ACCESSORIES BOX CONTENTS
1x Chair Seat base 2x Side Covers 1x Hydraulic Piston % ’i
1x Wheelbase 5x Lockable PU Casters (Wheels) 2x Phillips Head Screws " '
2x Armrests (Pre-installed) 1x Long Allen Key |
Assembly to be During assembly children Do not use this 1x Hydraulic Lever Mount 4x M8 Screws 1
carried out by a should be kept away from item if any components 1x Memory Foam Head Pillow 1x Magnetic Screwdriver Handle l L
competent adult only. the prodgct du'e .to possible are missing or damaged. 1x Accessories Box 1x Reversible Phillips + Hex Screw Bit W
risk of injury. |
HEIGHT f k= 4
ADJUSTMENT = =
Using th_e handles on the backrest heat seal bag, | | | %\
gently slide the backrest out of the box. Remove Lay out the foam sheets found in the packaging
all remaining parts and check that you have on a flat surface. Place the wheelbase upside Turn the wheelbase the right side up and insert HEIGHT ADJUSTMENT
received all the parts against the checklist above. down on top of the foam and insert all b casters. the hydraulic piston. While seated, pull the lever up to adjust the height of
your chair.

\

L

HEIGHT ADJUSTABLE ARMRESTS

_ _ Press and hold the lever on the outside of the armrests
Align with the screw holes on the left of the to adjust the height.

backrest with the left recline bracket. Insert the
M8 screws, then tighten all 4 fully on both sides
of the backrest using the long Allen-key.

Remove the 4 M8 screws pre-installed in both
sides of the backrest using the hex side of the
screwdriver or Allen key.

Align the backrest to the right recline bracket.
Insert the M8 screws previously removed from
the backrest. Screw them in halfway.

ARMREST WIDTH
ADJUSTMENT

ARMREST WIDTH ADJUSTMENT

To adjust the distance between the armrests, loosen the
M8 screws at the bottom of the armrests. Move the
armrests to the desired postion, then tighten to secure.

g y
Press the side covers onto the backrest and = = —
align them to the screw hole. Insert the round Attach the hydraulic lever mount to the bottom _gi}iﬁ
screws into the holes using the Phillips head Lift the chair and gently set it facing of the seat base using the 4 M8 screws, then B )
of the screwdriver. downwards. tighten all 4 fully. v m—
T o
=~
e LOCK ‘ ‘
LOCKABLE CASTERS

To keep the chair fixed in a stationary position, press
the brake pedals on the sides of the casters downward.

Carefully tilt the chair into an upright

Lift the assembled wheelbase and insert position while holding the wheelbase. SAFETY INFORMATION
the hydraulic piston into the socket of Congratulations, your Secretlab chair x x
the hydraulic lever mount. assembly is complete! &J %‘

AGES | This product is suitable for children in the age
Sit in the center of Do not sit at the front Do not stand on

range of the children for which the product is
5 + g P the chair, with your edge of the chair. the chair
designed for. back to the backrest.

Max Height <o| Max Weight
ﬁ] 160cm (5'3")

70kg (154lbs) &x

The chair should only be used as intended and in a non-abusive
manner. For warranty information, please visit the Warranty

fi bsit Do not use the chair with Do not push the chair Do not place all your
Section on our wepsite. more than one person. around when a person weight on the
is sitting in it. backrest only.

ASSEMBLY GUIDE

SECRETLAB GLOBAL HQ AND R&D CENTRE | 351 Braddell Road #05-02, Singapore 579713






